| TEM: 1693K-1 EK UPH HEADBOARD
1693K-2 EK UPH FOOTBOARD & SLATS
1693K-3CK SIDE RAILS

Thank you for purchasing this quality product. Be sure to check all packing material carefully for small parts which
may have come loose inside the carton during shipment. Identify and count all parts and compare with the Parts
List below.

Merci d'avoir acheté ce produit de qualité. Assurez-vous de vérifier soigneusement tous les matériaux
d'emballage pour les petites piéces qui pourraient se détacher a l'intérieur du carton pendant l'expédition.
Identifiez et comptez toutes les pieces et comparez avec la liste de piéces ci-dessous.

PARTS LIST / LISTE DES PIECES HARDWARE LIST OF 1693K-1- LISTE DE QUINCAILLERIE
1 Headboard - téte de it 1PC NO.| DRAWING DESCRIPTION QTY
2 |Headboard RSF leg - support pour téte de lit | 1PC A ®5/16"-18:2-1/8"Bolt - boulon 12Pes
B | (&) |@5/161132#11/16*1/16 Lock washer - rondelle d'amet| 12Pcs
3 Headboard LSF leg - support pour téte de lit 1PC
C ®5/16"*3/4"*1/9" Flat washer - rondelle plate 12Pcs
4 Headboard bun feet - pied 2PCS D é $5/16" Allen Key - clé Allen 1Pc
5 Headboard bottom rail - t&te de lit rail inférieur | 1PC HARDWARE LIST OF 1693K-2-LISTE DE QUINCAILLERIE
6 |Footboard - pied de lit 1PC NO.| DRAWING DESCRIPTION QY
E | Omom- | ®5/16"-18 x 1" Screw - vis 8PCS
7 Footboard bun feet - pied 2PCS
HARDWARE LIST OF 1693K-3CK-LISTE DE QUINCAILLERIE
8 Side rail - longerons 2PCS
NO.| DRAWING DESCRIPTION QTY
9 Slat - lattes 4PCS ©5/16"-18 x3-1/2"Hanger bolt - Boulon de cintre 8Pcs
10 |Slat support leg - jambe de support de lattes |8PCS ®5/16" - arc washer - rondelle 8Pcs
®5/16"* L17 Nut - Ecrou 8Pcs
®5/16" Open wrench - clé 1Pc

Made in Vietnam / Fabriqgué au Vietnam 1
of 2




| TEM: 1693K-1 EK UPH HEADBOARD
1693K-2 EK UPH FOOTBOARD & SLATS
1693K-3CK SIDE RAILS

D

6
, % V7
Step 3/ Etape 3 \\ )

-~

%
Step 5/ Etape 5

20f2




	1693 - SUA- 2020-3-13 Model (1)
	1693 - SUA- 2020-3-13 Model (1)

